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. A short line which is used to join two words together is called....................... .
. hyphen
. dash
. road
. point
. There are three kinds of word in ‘impolitely’.
. elements
. syllables
. accents
. letters
Y. A root is the central portion of a word, and it carries the basic.......................... .
. suffix
. meaning
. accent
d. prefix

2 3

. In the sentence ‘The book that you bought is a dictionary’, * that you bought” is

a. adjective clause

b. syllable

c. paragraph

d. adverb clause

°. Thanks to the bad weather, they could not go on a picnic. ‘Thanks to’ means.............. .
a. instead of

b. because of

c. although

d. despite
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1. In this way the richness of language is enhanced. ‘Enhanced’ means................. .

a. provided
b. increased
c. declined
d. concised
V. ‘Re-‘ in the words ‘reaction’, and ‘reorganizes’ means...................... .
a. without
b. again
c. not
d. with
. The woman had the impression that she was being followed. ‘Impression’ means........... .
. skill
. education
. feeling
. intending
in the meeting every month.
a. participating
b. participates
c. participation
d. to participate
) +. We read when we have time either during a lunch break in the evening.
a. nor
b. neither
c.or

d. but
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VY. When we go to school, we have to read any material that has been touched on by our tutor.

‘Tutor’ means.................... .

a. trainee

b. employer

c. employee

d. teacher

VY. The government has decided to this narrow street.
a. wide

b. widely

c. widen

d. width

VY. We play football when it is not raining. ‘When it is not raining’ is a(n)....................... .

a. preposition

b. adverb clause

c. paragraph

d. adjective clause

V£, The student does not know what differentiates the two research projects. ‘Differentiates’
Means................. .

a. distinguishes

b. joins

c. combines

d. destroys

Y is important in logic.
a. Deducible

b. Deduction

c. Deduces

d. Deduce
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V1. We can infer the meaning of a word from the context within which it is used. ‘It’ refers
|0 JR .

a. we

b. the context

c. a word

d. the meaning

VY. The writer used some new words in the passage.Some new words
a. be use

b. used

C. 1S uses

d. were used

YA, You should type the new words of the passage in ,s0 they will have thick, heavy
lines for emphasis.

a. hint

b. hidden form

c. boldface

d. thin form

V4. A verb such as ‘bring’ or ‘sell’, used with an object, is called a(n)
a. intransitive

b. unknown

c. transitive

d. meaningless

Y+. The part of of the words ‘go’ and ‘come’ is verb.

a. speech
b. beach
c. speak

d. stitch
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Y). ‘Pro-‘ in the word ‘pronunciation’ means....................... .

a. opposite

b. in favor of

c. together

d. different from

YY. A feeling that makes somebody want to do or behave in a particular way is called................. .
a. relaxation

b. exception

c. prevention

d. inclination

YY. Nobody wanted to work in the shop, so the shop was forced to close because of the
staff.

a. stage

b. excess

c. shortage

d. share

Y ¢, Fuel resources are not for our needs.

a. adequately

b. adequate

c. adequacy

d. The adequately

Yo, In educational institutions, the libraries are both ‘lending” and “............. .
a. reference

b. avoidance

c. movement

d. ignorance
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Y1, It is important to acquaint yourself
a. with
b. up
c. of
d. to
YV. In the words ‘teacher’, and ‘writer’, “-er” means................. .
a. again
b. a person that
c. in favor of
d. without
any money if we didn’t work.
a. not had
b. wouldn’t have
c. do not have

d. not have

Y4. The act of providing someone with a strong reason for doing something is called............ .

a. deletion

b. motivation

c. relaxation

d. reduction

¥+. Some of these techniques are obvious and others are less obvious. Among the obvious ones you
can find the following. ‘Ones’ refers to..................... .

a. you

b. techniques

c. others

d. following
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of metals is clear when they are heated.
a. expansively
b. expand
C. expansive \K
d. expansion 7
YY. He is telling you that talking is not a polite action. The gerund is................
a. polite
b. talking
c. telling
d. action
Y'Y, She fell asleep almost at once. ‘At once’ means................... .
a. slowly
b. immediately
c. quietly
d. quickly

Y¢. A word, sentence, poem, etc. that helps you remember something is called............... .

a. advice

b. mnemonic

c. idiom

d. proverb

Yo, For example, they help to select individuals for positions in society. ‘Select’ means....... .
a. register

b. remove

C. manage

d. choose
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Y1, There are three types of memories: audio,
a. forgetting

b. hearing

c. visual

d. listening
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, and kinetic.

YY. We tend to associate problem solving with mathematics. ‘Associate’ means............. .

a. demonstrate
b. Shift
C. create

d. relate

YA, The prefix ‘en—° in the word ‘enlarge means................ .

a. make
b. together
c. after

d. before

¥4. The advantage or benefit gained from something is called............... .

a. respect
b. sector
C. omission

d. profit

¢+, In the sentence “ It is important to study hard “, ‘it” which is a pronoun refers to........... .

a. to study hard
b. study
c. important

d. hard
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